
Th
is

do
cu

m
en

ta
nd

its
co

nt
en

ts
ar

e
th

e
ex

cl
us

iv
e

pr
op

er
ty

of
P

ah
lé

ns
an

d
m

ay
no

tb
e

co
pi

ed
,

re
pr

od
uc

e d
,t

ra
ns

m
itt

ed
or

co
m

m
un

ic
at

ed
to

a
th

ird
pa

rty
,o

ru
se

d
fo

ra
ny

pu
rp

os
e

w
ith

ou
tw

rit
te

n
pe

rm
is

si
on

.

Art.no.

Rev.no.

Scale

Designed by: Approved by:

Revised by: Date

Drawn by: Date

Drawing number

Assembly drawing no.

Surface treatment

part of ISO 2768-1 
The tolerance class in accordance with this

E

Box 728, SE-194 27 Upplands Väsby, Sweden
Phone +46 8 59411050, Fax +46 8 59086880

TS

139VXYZZ
TS 2007-12-12

Medium

 
Elvärmare kompakt 3-18kW

M10931 0

Sid 3 Reservdelar

Th
is

do
cu

m
en

ta
nd

its
co

nt
en

ts
ar

e
th

e
ex

cl
us

iv
e

pr
op

er
ty

of
P

ah
lé

ns
an

d
m

ay
no

tb
e

co
pi

ed
,

re
pr

od
uc

e d
,t

ra
ns

m
itt

ed
or

co
m

m
un

ic
at

ed
to

a
th

ird
pa

rty
,o

ru
se

d
fo

ra
ny

pu
rp

os
e

w
ith

ou
tw

rit
te

n
pe

rm
is

si
on

.

Art.no.

Rev.no.

Scale

Designed by: Approved by:

Revised by: Date

Drawn by: Date

Drawing number

Assembly drawing no.

Surface treatment

part of ISO 2768-1
The tolerance class in accordance with this

E

Box 728, SE-194 27 Upplands Väsby, Sweden
Phone +46 8 59411050, Fax +46 8 59086880

1:2

1399600
ASA 2008-10-02

3-pol kombi termostat
Kompaktset 6

M10961 0

Th
is

do
cu

m
en

ta
nd

its
co

nt
en

ts
ar

e
th

e
ex

cl
us

iv
e

pr
op

er
ty

of
Pa

hl
én

s
an

d
m

ay
no

tb
e

co
pi

ed
,

re
pr

od
uc

e d
,t

ra
ns

m
itt

ed
or

co
m

m
un

ic
at

ed
to

a
th

ird
pa

rty
,o

ru
se

d
fo

ra
ny

pu
rp

os
e

w
ith

ou
tw

rit
te

n
pe

rm
is

si
on

.

Art.no.

Rev.no.

Scale

Designed by: Approved by:

Revised by: Date

Drawn by: Date

Drawing number

Assembly drawing no.

Surface treatment

part of ISO 2768-1 
The tolerance class in accordance with this

E

Box 728, SE-194 27 Upplands Väsby, Sweden
Phone +46 8 59411050, Fax +46 8 59086880

1:2

1399500
ASA 2008-09-26

3-pol Överhettningsskydd
Kompaktset 5

M10945 0

19955500 blue 6319955500GenericKabelsko flatstiftshylsa A2507FL blå 6,3329
14781000GenericKabel med flatstiftshylsa34

ISO 7045 - M4 x 6 - 4.8 - H19909207Stainless Steel, 440CSkruv MRX M4x623
1456220014562200GenericPackning cellgummi12
Överhettn-3-pol128572GenericÖverhettningsskydd 3-pol 60°C11

Drawing.no:Art.noMaterialTitle/ NameQty.Item.

13 2 4

Th
is

do
cu

m
en

ta
nd

its
co

nt
en

ts
ar

e
th

e
ex

cl
us

iv
e

pr
op

er
ty

of
P

ah
lé

ns
an

d
m

ay
no

tb
e

co
pi

ed
,

re
pr

od
uc

e d
,t

ra
ns

m
itt

ed
or

co
m

m
un

ic
at

ed
to

a
th

ird
pa

rty
,o

ru
se

d
fo

ra
ny

pu
rp

os
e

w
ith

ou
tw

rit
te

n
pe

rm
is

si
on

.

Art.no.

Rev.no.

Scale

Designed by: Approved by:

Revised by: Date

Drawn by: Date

Drawing number

Assembly drawing no.

Surface treatment

part of ISO 2768-1
The tolerance class in accordance with this

E

Box 728, SE-194 27 Upplands Väsby, Sweden
Phone +46 8 59411050, Fax +46 8 59086880

1:2

1399400
ASA 2008-10-02

1-pol Termostat
Kompaktset 4

1-pol Överhettningsskydd M10947 0

14550810 Skyddshuv14550810GenericSkyddshuv inv 6K 12mm18
ISO 4032 - M819930033A4Mutter M6M A4 M8x117
Öhs 55.13511.080 kropp12844GenericÖverhettningsskydd 1-pol 60°C16
19955500 blue 6319955500GenericKabelsko flatstiftshylsa A2507FL blå 6,3 45
Ratt19991000GenericTermostatratt14
ISO 7045 - M4 x 8 - 4.8 - H19909207Stainless Steel, 440CSkruv MRX M4x623
1456220014562200GenericPackning cellgummi12
Termostat 1999120019991200Termostat EGO 0-45°C11

Drawing.no:Art.noMaterialTitle/ NameQty.Item.

1234

58 67

5

Th
is

do
cu

m
en

ta
nd

its
co

nt
en

ts
ar

e
th

e
ex

cl
us

iv
e

pr
op

er
ty

of
Pa

hl
én

s
an

d
m

ay
no

tb
e

co
pi

ed
,

re
pr

od
uc

e d
,t

ra
ns

m
itt

ed
or

co
m

m
un

ic
at

ed
to

a
th

ird
pa

rty
,o

ru
se

d
fo

ra
ny

pu
rp

os
e

w
ith

ou
tw

rit
te

n
pe

rm
is

si
on

.

Art.no.

Rev.no.

Scale

Designed by: Approved by:

Revised by: Date

Drawn by: Date

Drawing number

Assembly drawing no.

Surface treatment

part of ISO 2768-1 
The tolerance class in accordance with this

E

Box 728, SE-194 27 Upplands Väsby, Sweden
Phone +46 8 59411050, Fax +46 8 59086880

1:2

1399300
ASA 2008-10-02

1-pol Överhettningsskydd
Kompaktset 3

M10953 0

19955500 blue 6319955500GenericKabelsko flatstiftshylsa A2507FL blå 6,324
14550810 Skyddshuv14550810GenericSkyddshuv inv 6K 12mm13
ISO 4032 - M8Stainless Steel, 440CHex Nut12
Öhs 55.13511.080 kropp12844GenericÖverhettningsskydd 1-pol 60°C11

Drawing.no:Art.noMaterialTitle/ NameQty.Item.

43 12

Th
is

do
cu

m
en

ta
nd

its
co

nt
en

ts
ar

e
th

e
ex

cl
us

iv
e

pr
op

er
ty

of
P

ah
lé

ns
an

d
m

ay
no

tb
e

co
pi

ed
,

re
pr

od
uc

e d
,t

ra
ns

m
itt

ed
or

co
m

m
un

ic
at

ed
to

a
th

ird
pa

rty
,o

ru
se

d
fo

ra
ny

pu
rp

os
e

w
ith

ou
tw

rit
te

n
pe

rm
is

si
on

.

Art.no.

Rev.no.

Scale

Designed by: Approved by:

Revised by: Date

Drawn by: Date

Drawing number

Assembly drawing no.

Surface treatment

part of ISO 2768-1
The tolerance class in accordance with this

E

Box 728, SE-194 27 Upplands Väsby, Sweden
Phone +46 8 59411050, Fax +46 8 59086880

1:2

1399200
ASA 2008-10-02

1-pol Termostat
Kompaktset 2

3-pol Överhettningsskydd M10946 0

Th
is

do
cu

m
en

ta
nd

its
co

nt
en

ts
ar

e
th

e
ex

cl
us

iv
e

pr
op

er
ty

of
Pa

hl
én

s
an

d
m

ay
no

tb
e

co
pi

ed
,

re
pr

od
uc

e d
,t

ra
ns

m
itt

ed
or

co
m

m
un

ic
at

ed
to

a
th

ird
pa

rty
,o

ru
se

d
fo

ra
ny

pu
rp

os
e

w
ith

ou
tw

rit
te

n
pe

rm
is

si
on

.

Art.no.

Rev.no.

Scale

Designed by: Approved by:

Revised by: Date

Drawn by: Date

Drawing number

Assembly drawing no.

Surface treatment

part of ISO 2768-1 
The tolerance class in accordance with this

E

Box 728, SE-194 27 Upplands Väsby, Sweden
Phone +46 8 59411050, Fax +46 8 59086880

1399100
ASA 2008-09-26

1-pol Termostat
Kompaktset 1

M10944 0

19955500 blue 6319955500GenericKabelsko flatstiftshylsa A2507FL blå 6,325
Ratt 1p 0-4519991000GenericTermostatratt14
ISO 7045 - M4 x 6 - 4.8 - H19909207Stainless Steel, 440CSkruv MRX M4x623
1456220014562200GenericPackning cellgummi12
Termostat 1999120019991200Termostat EGO 1-pol 0-45°C11

Drawing.no:Art.noMaterialTitle/ NameQty.Item.

4 3 2 1 5

A-
A 

( 1
 : 1

 )

Thisdocumentanditscontentsaretheexclusive

propertyofPahlénsandmaynotbecopied,

reproduced,transmittedorcommunicatedtoathird

party,orusedforanypurposewithoutwrittenpermission.

Ar
t.n

o.

Rev
.no

.

Sc
ale

Des
ign

ed
by

:

Ap
pr

ov
ed

 by
: Rev

ise
d 

by
:Date

Dra
wn 

by
: D

ate

Dra
wing

nu
m

be
r

As
se

mbly
dr

aw
ing

no
.

Su
rfa

ce
 tr

ea
tm

en
t

pa
rt

of
IS

O 2
76

8-
1

Th
etol

er
an

ce
cla

ss
in

ac
co

rd
an

ce
with

 th
is

E

Bo
x72

8,
SE

-1
94

 27
Upp

lan
ds

 V
äs

by
,S

wed
en

Ph
on

e +
46

 8
 5

94
11

05
0, 

Fa
x +

46
 8

59
08

68
80

1:
1

90
31

2
OA

20
08

-1
2-

19

AS
A

20
09

-0
6-

24

m
ed

el
Bu

ss
nin

g m
äs

sin
g R

2½
"-2

"

M10
98

5
1

A

A Ar
mat

ur
mäs

sin
g

1

1

Not
e

Dim
en

sio
n

M
ate

ria
l

Ti
tle

/ N
am

e

Qty.

Ite
m.

G2"

G2½
"

64
,5

Ø

8
11

11

25

72 Ø

76
,5

Ø

77

85
,5

R1,5

3,21

C

E

D

A

H

H

I

J

H

J

I

K

G

A

F

B

L

Y

Y

Y1

Y2

Y3

Y4

Y5

Y6

2”

2½”

2”

2”

½”

1/8”

Elv Kompakt / Compact electric heater

Item no. 139VXYZZ & 139VXYZZT

V Heating element
6 = 690V
7 = 440V
8 = 400V (230V)
9 = 415V

X Outer implements
1 = Flow switch
2 = Pressure switch

Y Inner implements
1 = Unipolar thermostat 0–45°C
2 = Unipolar thermostat 0–45°C + Tripolar overheating limit control 60°C
3 = Unipolar overheating limic control 60°C 
4 = Unipolar thermostat 0–45°C + Unipolar overheating limit control 60°C 
5 = Tripolar overheating limic control 60°C 
6 = Tripolar thermostat (6–85°C)

ZZ kW

T Titanium chassi, Nictech heating element



Компактный электронагреватель
Запасные части

Описание № арт.

A

Нагревательный элемент (см. ниже), 
Прокладка
Комлект внутри коробки:
Кольцеобразное уплотнение
Внутреннее кольцо кронштейна
Винт M4x12
Винт M4x40
Прокладка
Заземление
Шайба квадратная
Шайба
Гайка, 2 шт

(см. ниже)

“ 3кВт 400/230B Incoloy 632200
“ 6кВт 400/230B Incoloy 632201
“ 9кВт 400/230B Incoloy 632202
“ 12кВт 400/230B Incoloy 632203
“ 15кВт 400/230B Incoloy 632204
“ 18кВт 400/230B Incoloy 632205
“ 3кВт 400/230B Nictech 632210
“ 6кВт 400/230B Nictech 632211
“ 9кВт 400/230B Nictech 632212
“ 12кВт 400/230B Nictech 632213
“ 15кВт 400/230B Nictech 632214
“ 18кВт 400/230B Nictech 632215

B Настенное крепление, 2 шт
Крепления ремни, 2 шт 632005

C Датчик потока
Кольцеобразное уплотнение 12870

D Вилка PVC ½”
Кольцеобразное уплотнение 632206

E Вилка 1/8”
Кольцеобразное уплотнение 632207

F
Реле давления
Жилье
Фастон, 2 шт 

12856

G

Соединительная коробка в комплекте:
Соединительная коробка
Кабельное уплотнение, 2 шт
Гайка, 2 шт
Набор для внутреннего монтажа
Крышка
Винты, 2 шт

147010

H Tермостат, Прокладка, поворотные регуляторы униполярный 0–45°C 632002
I Реле защиты от перегрева трехполярный 60°C 632003
J Реле защиты от перегрева униполярный 60°C 632001
K Tермостат, Прокладка, поворотные регуляторы трехполярный 6–85°C 632004

L
Адаптер 2½”-2” (элемент)
Кольцеобразное уплотнение
Прокладка

127140


	Деталировка элетронагреватель нерж
	Деталировка электронагреватель пластик
	Деталировка электронагреватель для СПА
	Деталировка электронагреватель Midi Heat



